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אי  שוויונים  ממעלה  שנייה
1. x2 + 3x – 10 > 0
· [image: image2.wmf]נצייר  סכימה  של  גרף  הפונקציה: _______________.
א.  a __ 0  (  לפונקציה  יש  ____________
ב.  נפתור  את  המשוואה:  _______________   (  x1 = ____    x2 = _____
ג.  שרטוט  גרף  הפונקציה:  
· תשובה:  _____________
2. - 5x - 14 < 0   x2
· נצייר  סכימה  של  גרף  הפונקציה: _______________.
א.  a __ 0  (  לפונקציה  יש  ____________
ב.  נפתור  את  המשוואה:  _______________       (  x1 = ____    x2 = _____
ג.  שרטוט  גרף  הפונקציה:
· [image: image3.png]


תשובה:  _____________
3. x2 – 4x + 5 ( 0
· נצייר  סכימה  של  גרף  הפונקציה: _______________.
א.  a __ 0  (  לפונקציה  יש  ____________
ב.  נפתור  את  המשוואה:  _______________       (  ______________
ג.  שרטוט  גרף  הפונקציה:
· [image: image4.png]


תשובה:  _____________

4. -x2 + 8x – 7 < 0
· נצייר  סכימה  של  גרף  הפונקציה: _______________.
א.  a __ 0  (  לפונקציה  יש  ____________
ב.  נפתור  את  המשוואה:  _______________       (  x1 = ____    x2 = _____
ג.  שרטוט  גרף  הפונקציה:
· תשובה:  _____________

5. -x2 + 8x + 20 > 0
· נצייר  סכימה  של  גרף  הפונקציה: _______________.
א.  a __ 0  (  לפונקציה  יש  ____________
ב.  נפתור  את  המשוואה:  _______________       (  x1 = ____    x2 = _____
ג.  שרטוט  גרף  הפונקציה:
· תשובה:  _____________
6. -x2 + 4x - 5 ( 0
· נצייר  סכימה  של  גרף  הפונקציה: _______________.
א.  a __ 0  (  לפונקציה  יש  ____________
ב.  נפתור  את  המשוואה:  _______________       (  ______________
ג.  שרטוט  גרף  הפונקציה:
· תשובה:  _____________
· תשובות:  1.  x < -5  או  x > 2    2. -2 < x < 7    3. (  4.  x < 1  או  x > 7 
5.  -2 < x < 10   6.  ( < x < (-
עבודה  נעימה
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